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DO YOU REMEMBER?

If you have read the Wall Street Journal from November 8th  to 12th  you should be able to answer the following questions based upon important articles relating to economics. The reference at the end of the answer tells you the date and page number where you can find the article upon which the question is based. 
1. Which sector of the U.S. economy used to be responsible for U.S. trade surpluses, but is more recently subject to trade deficits? Click for answer.
2. Which country recently signed the Kyoto Protocol, an action that is expected to increase the buying and selling of pollution permits on a global market? Click for answer.
3. Name one factor that is providing impetus to the revival of the U.S. nuclear power industry.  Click for answer.
4. Over the past two years has the value of the dollar in world currency markets fallen or risen?  Click for answer.
5. What action did the FOMC take last week?  Click for answer.
6. In the Capital column by David Wessel, are President Bush’s planned tax cuts matched by raises in other areas? Click for answer.
ANSWERS TO “DO YOU REMEMBER?” QUESTIONS
1. Agriculture. (See “Surging Imports of Food Threaten Wider Trade Gap” November 8, page A1.)
2. Russia.  (See “As Kyoto Protocol Comes Alive, So Do Pollution-Permit Markets” November 8, page A2)
3. Volatile energy markets, cost of containing carbon emissions, support by the Bush Administration. (See “Nuclear-Power Industry Sees Signs of a U.S. Revival” November 9, page A1)
4. It has fallen. (See “Bush Policy: Talk a Strong Dollar but Let It Slide” November 10, A1) 
5. It raised the federal funds rate by ¼ percentage point to 2 percent. (See “Fed Raises Short-Term Rate to 2%” November 11, page A3)
6. No. (See “Questions for the President on Tax Reform” November 11, page A2)
Labor Shifts May Slow
Work-Force Growth
By JON HILSENRATH 
Staff Reporter of THE WALL STREET JOURNAL
November 15, 2004; Page A2
NEW YORK -- In the past four years, the number of adult Americans who aren't working and who aren't looking for work has swelled by six million, pushing labor-force participation rates to the lowest levels in 16 years.

1. How do economists measure the labor force participation rate?
Now that the job market appears to be improving, some economists believe it is time for labor-market dropouts to drop back in again. "If workers are having some sense that the labor market is starting to pick up you would expect them to come back into the labor force in larger numbers," says Harry Holzer, an economist with Georgetown University and former chief economist with the Labor Department.

But it may not work out that way. That is because a mix of demographic and social trends has been at play in driving Americans out of the labor force, and those same trends could keep them out even as the economy begins to strengthen.

Many of the workers who left the labor force in recent years are the much-talked-about discouraged workers, people who had such a difficult time finding work that they stopped looking. These are the individuals whom many economists expect to flood back into the labor force in the months ahead.

2. If labor-market dropouts do not enter as the economy improves, what will likely happen to the unemployment rate?  
However, a large number of people who have left the job market don't fit neatly into that category. Students, for example, are spending more time at their studies, rather than concocting dot-com dreams in their dorm rooms or taking afterschool jobs. Other Americans are attending to responsibilities at home, retiring early or collecting disability benefits. While the weak job market had undoubtedly been a factor in their decisions, it wasn't the only factor.

The bottom line, some economists say, is that the labor force might well grow at a slow pace even if job growth picks up and even as discouraged workers return.

This has important implications for everything from how fast the economy can grow to how many jobs it needs to create to hold down unemployment. Economists generally believe the economy needs to create about 150,000 jobs a month to keep up with the addition of new entrants to the labor market. But in a new period of slow labor-force growth, the threshold might be 100,000 or below, according to a recent study by the Federal Reserve Bank of Atlanta.

That might sound like good news because it means less competition for each potential worker. But it's not all good, says Dale Jorgenson, a Harvard economist who specializes in something called growth accounting, which breaks down the engines of economic growth -- most notably productivity growth and changes in the labor force.

3. What is growth accounting? What have been the major sources of real U.S. growth?
While productivity is booming and boosting economic growth, a slow-growing labor force will hold back the economy's overall growth rate in the years ahead, he says. That means less consumption and less investment than some might expect.

Some private economists believe the economy can grow at a pace of nearly 4% in the years ahead, but Mr. Jorgenson says the growth rate will be just a little more than 3%.

"We're not going to have a return to the 1990s and we better live with it," he says.

In a new set of calculations, he estimates the number of hours Americans clock at work will grow by 0.7% annually in the next 10 years, a sharp slowdown from the pace of roughly 1.5% growth that prevailed from the 1960s through most of the 1990s.

4. Does a slower growth rate mean that Americans will be worse off? 
5. Explain using the growth model how lower labor force participation rate would lead to slower economic growth.  
Such a slowdown has long been foreordained, because baby boomers are creeping closer to retirement. But what is surprising is that it is potentially happening now, before the oldest boomers have reached their golden years.

Labor Department statistics, for instance, show sharp increases in the number of women, age 25 to 54, who are out of the labor force and attending to responsibilities at home. This number was declining through most of the 1990s, but then started to rise again in 1999 -- before the recession set in. Between 1999 and 2003 their ranks jumped 13% to 8.8 million, according to data compiled by Labor Department economist Steve Hipple.

"We're at the end of an historic period where female labor-force participation rates had been steadily climbing," says Mr. Jorgenson.

Teens and young workers in their 20s are another driving force in this trend of slow labor-force growth. A recent study by economists at the Federal Reserve Bank of Chicago found young Americans behaved differently in the recent downturn when compared with the downturn of the early 1990s.

Back then, an increasing number of teens and college-age students chose to go to school and work at the same time. But from 2000 to 2002, on the other hand, they stayed in school and moved out of the labor force in large numbers. The authors -- Daniel Aaronson, Ellen Rissman and Daniel Sullivan -- argue young workers are potentially responding to the higher wages that are being earned by workers with high skills by dedicating more time to school and less time to work.

Meanwhile, the number of adult Americans who say they are out of the work force and disabled increased by 18%, or 1.8 million, from 2000 to 2003. The number of people ages 25 to 54 who said they retired increased by 27%, or 234,000.

It all adds up to a labor-force slowdown that has been much more complicated than many economists believe. The wild card in whether this slowdown will persist is older workers. Surprisingly, the oldest workers -- those 65 and over -- are the ones whose labor-force participation rates have picked up the most in the past few years. They are healthier. And if Social Security reform entails an increase in the retirement age -- as some argue it should -- they might find they have to work longer than they expected.

6. What economic policies could government institute to increase the labor force participation rate?   



Write to Jon Hilsenrath at jon.hilsenrath@wsj.com 

ANSWERS TO ARTICLE ANALYSIS QUESTIONS
Refer to chapters 22 and 24 in Colander’s Economics and chapters 6 and 8 in Macroeconomics when answering these questions. Refer to chapters 8 17 in McConnell’s Economics and Macroeconomics.

1. The labor force participation rate is the number of employed plus the number of unemployed divided by the population eligible to work. Return to article.
2. If fewer job-market dropouts re-enter the labor force and the economy improves, the labor force will likely rise at a slower rate than the rise in employment. The unemployment rate will be lower than if more people re-entered the labor force.  Return to article.

3. Growth accounting is the dividing up of the economic growth rate into parts attributable to factors that promoted that growth. The major sources of real U.S. growth have been increases in: human capital, physical capital, technology, and labor.  return to the article.
4. Growth in GDP is not synonymous with growth in either happiness or economic welfare. GDP measures market activity and determines how much a nation can consume. It could be true that people would be happier with more free time and fewer consumer goods. Economists, however, leave those issues to others to consider and concentrate their analysis on economic activity. Return to article.
5. In the simple classical growth model, growth in output is determined by increases in labor, capital, and land. A decline in labor growth, therefore would be expected to reduce the overall growth rate. Because of the law of diminishing marginal product, the decline in overall growth would be less than the decline in the growth of labor. Return to article.
6. The government could reduce income tax rates, which would increase the returns to work. It could reduce disability would have the incentive to do so to make up lost disability payments, to the extent that disabled workers could find some work. Government could also reduce education subsidies to that college students would have to work more to pay for college. And it could increase the age at which people are eligible for Social Security so that people will work for more years. Return to article.









